18 (£)
s Bt —ANEY
EFROYE
fff FHEX(ER) 65
o ek 05
ﬂ_ :E:E 3
L/ /B /
. |HLE"MR 0.8
%z |BEE 10
(O =] 8
A B 0.8
Yoo hoEiu 15
T | EE 1
4 mis 8
g, |EREEGELA) 1
CUES (SEME - CIEABNED) 8
7 (A 10
BT E=R 5
‘:JI FLLLEH(RS4R) 0.8
Y N =pii 25
[ BB 2
n  |BILBLLIWD 2
)
A |45 206
3]
o (LM &&a583% (IL—2) 18
4 Xy 25
£ |@Jovav-—wneE 20
L | ®h—ia—> 10
b N (5T 2
N=}] 1.1
Q BS54 0.6
&~
Z’ FFEUB 15
n | EEGYR) ke 30
& 20
ZDET=1T 7
FhFE 5
BiE 05
53<BLLSR 05
BIYET 7ZLH 4
HLEHR 1
7k 120
(BE)VEHoNn 8




D 3A
4H(H) 5H (K) 6H (7K) 7H(K) 8H (&)
kL4 Bhd —AZHY | |#is BRA —ABY | |#Is Ba4 —AZBY | |#izs BRA —A&EY | |#z% Bhd —AHY
FRHE FKRHE FKRHE N FKRHE
ESLTI=EE555) 60f (U [HEEX(BR) 65| (£ |#EX(EHR) 60| (I [aym/SL (LB 50| = [#EEX(ER) 72
- [EERER 70| (U [sk3&ibk 05| |[= [BEXEH 70| |7 [3uxssL L) 60| |& [BAXER 80
% [kaz zm 6| |2 [tmexemzom 2| ¥ Loz =x ~ A gemiex 05
KuE FH 7 ri DEZAIZHL(N—=D) 5 *pE FE 1. |FER 206/ |4
% A RTERT tke 5 |4 3 |FE 206
EI 206 FZ)UVLZ 1 |3 [&EL 206| |4 |mm mossLEsrm 30
& (U35 0.8 2 [mw stmsLEsrR 20| | [BAXZIVTF 15
% 47 (3 X 3MRIAR) 20| |2 [L&SW 3| ¥ [BAXEIVTF 25 ppii] 1| [P [&E& 2
S < 0] | [#&E o| | (= i| & [casa 6 lﬁz hz 06
7 [wnsvemike 20| 9 [Lam I 80 l,;] Tif-tah | |If i< 02
< |GREST k) Tke 25| ||z Bif 03] | EA 3Bl | |[R=3L—F #HEA 9 |5 [WEBT IR Tke 45
A |KIB 30| |L 5 |AB 15 [ [L&SW 2| |+, |EH 25
B E (2cm) 25| [k (|43 206 |5 [FLLLEH(RFAR) 1 [ BAESHE 2| |5 | AB 10
N | RSAIZeL 20| |4R fhE 51 [v |k 4| v |EHoIKkEGR—L) 8
A AS 10 0? ThASD 6| |[& £ 1| [V R P T T 2
< |@EEEEGIY 1] |5 g 51 (2 [IzAl< og| || [ xax= 150 |1 [Fo5oyg 20
(';‘)’ Haz 5 ;) YFLAR 8 5; H 5450 1 '; (A GERT ke 5 gi CEm 08
W FHZ 3| |= AS 10| 4 |ErRErFroT Tk 7 17 =iy % |z I HE 2
3 |hREE 3 () ERLAIFA 500g 10| [5 |[L&SKW 35 | |AB 10| v [FEaVA 0.6
% [BB 1 15 CFEH 05| [4 |@ABR—F 1ke 3| |p |BRICERLYLLY 7| |=  [L&SW 2.2
» [L&SW 08| [ | LA 25 FHZ 2| |1+ | KHE 3
Ak 5[ (= [L&dW 15| (B & 1 A—av (sg ) 1. |ERE 0.03
#  |BYh 12] (£ [ZEm 05 X [E& 3| 1> [cass 1
(LR EC DR o] 7T [Eut 20| |2 [Fxasus o5 |2 [BEx 30| |V [k 25
- . 7 + &
AT A LV ES2m) 15 | |BiE o1l |5 [AZ 5 (4
EpdY 15 iz 5| |2 | E2RE 01| |& [&BY 5 [+ [REELFEIFC () 7
AS 7 £584 THEDE 20| [~ |TARA 1 JAS D) 0.5 BB 7
(/) R—La—y> 7 KiB 15| K [SFm ol| [ [¥345H 05| |lX |E=E 25
LESK 1.8 AB 8 kK 35| | |@ssx—7 1ke 4l 15 |Az 10
WTEE 07 i 5 ;l‘ Bl 04 [#* [hnz 5
B=}] 038 LN (RSAR) B Tk 5 O—R/\A Gafl) BikE 1 |5 ) 0.03 ;\ SLHA 7
HHZ 55 &/ (8~10cm) 5 FErayi 05| |ch L&SK 0.4
H#% 5 3L 25 o—yx 01f (o [BIE 0.4
ZTL LA 4 Eps5Y 10 & 120| | [EIVES FZLE 4
7K 150 AS 10 -  |[HLE# 1
WYEITE 1 = 125
L&SK 25 3
BEF 2 ; [£5H 50
i=] 1.5 B L A 1
CFim 1 ]
oL 0.05 Wi (B)3T7 Ty BB 28
L
Hh&Y 5 —~
F—EF (mo%E) 4 A
TEE 1 ;‘3
L&SKW 0.3 -
#HYA 1
K 1




D 3AH
118 (A) 128 (K) 138 (9K) 148 (K) 158 (&)
kL4 Ba% —AZHY | |#is BRt —AHY | |#Is = E —AZBY | |#izs BR% —A&EY | |#z% Bt —AHY
EERSE EERRDE EERRNE EERDE ERD=E
£ [BAX(E®) 60| (7 [wweses swzop i3 200 [T [TYRKY 50| | P |[BEXER 59| (B |HEEX(FH) 60
- A% (ER) 70 lI/ (EWTEL SBEDE a6 280| [V [2w~sSy 0| |E [xmiz Bk 6 |- [BEXER 70
T [xux =a | |5 |wmwoes suson 300/ | B |meatex 05| ¥ [rmz =m 6
Xz £ 1 |&  |EFEmexemz54z) 30| [, |WEmEEmosY—L 10] | [BER(mATY) 15 XuE FH 7
#® 4 LHET 10 R [EHookEeE—L 10| |5
) 43 206 E& 40| |2 et 206| (A& CRTERT ke 5| [» () BHASYA (288BTY—) 2
4+ |AB 10| |= Z  |hhEFE 5| (A
i hs L% 6| L [phaE 5| 2 [BRKZSSVF 20| [IF  |FLLner@s42) 05| |5 [#£=:; 206
JE'" B - BHL(2x 2m) 15 1IZAI1< 05 ff B EVATAT ke 20| |A  |cEm 1] |
'05)\ 0] 1 T £ 0.2 ; (B)EBE ke 15 % ] 4 ﬁ; 08 IM=ChUL LB 35
|30 0| £ |[HSFHE 2| | [Ledlrd 55| |2 |LsSW 4 [ |Hrt=him 4
F |E& 20( |~ |AL—# 110 || E¥- 40| [y =} 08| |/ [wLE Bit BE-s008 4
= | KRE 10| | K (®)HBR—F 1kg 4| |4 [(B)FhKE ke 8l |~ |&iE 03| |p |EBEHE 3
PN 10| [& [|[FExraryA 05| [~ [IAl=( 1 D [LLSW 2
L |evsraorme 4 |2 |@wrsrrresd tie 2| '™ sy 08| | (45 206| |
€ |pomF 4 | [mrE—v—2 17| [P o545 1] |® =T 20
'/;’ L& 45 %*1' EADDY—R 1 gi G RIS FroT kg 6 po [Em2oscam e 7 # 3L 25
y |[#YA 3| |2 [L&SK [ [P 50 |7 [E=2v 5 |z |BRCXR 20
M=} ] 2| |5 [F¥YLR 450g 1 PARE—Y—R 1| [z |B®L 25 2HDY 1
BiE 04| |1+ [HESRESH 1| 1 | FERESHE i |l>  [ZEe3Y 15| [m |L&SHP 1.5
B | TARA 05| [~ |[&iE 06| [l | FEXaryA 05| [ [AZB 8| |f= |RUBEE 05
S |HIVER LA 2| |~ [cL&> 003 BiE 03| |7 [L&SW 25| <
e 50| | [casAa 2| [T Uty — 0os| |¥ |&E 25| B |senscxamzsin 10
by S ETOT IR 4|2 8 30 LB 13 [0 [sozus 2onm) 40
- ) = a S e b =
o |mEsE—tamme 9 |4 [E 110f |-, = | Fil 1 FENZIES 7
»n  |Eftail 5] |— 5 |[E=zoscEm mEE 5| |z |5l 006| | [2FEZAIZ®L 7
5 |BiE 0.1 43, 206| | | FrRY 25( | | L [AZ 8
& v |Ew3Y 15/ |7 |[(LR)5F B0 1ke 20| £ [BL 10
I (85) it hyh) B 2008 1 F5SNAE 20 AS 8l |_ E¥) 30| [~ fhE 5
FoRY 25 FoRY 0| |7 [WEE—La—y 51 |3 |Az ol |7 |Zat 9
S [Ew3y 10 L 2| |V [mE 34| |, [roEkiy o| |, [EFL LB 4
RS LG DL S| 2= 4 5 L&SKW 25| |3 |LE%E 15 |2 [ FZoHA 0] |5 K 100
M [LES 2 B 2 |y | B3 2| |+ &= 05 [+
o |BE 1.5 =L 1|5 |&Bi& 03| |v |[¥54H 05
D | LBk 1 Y54 1| 1% |2LsS 003 [V |@®ser—F 1ke 4] [
» [cEm 05 F—EVR ) 1 ~ L&KW 05| £
A (Y55 05 7—EVR &) 15] [ [cmscosasmmuss 20| [V [FFoay 03| |B
b E A Bif 0.35 2
? B BETI1 25| |~ 2 ) 003 [*
I - bl 10| | &
D A
7 @) IvHIRF Y N 15| [t
~ B SO RFTIY 1 20




D 3A
18H(A) 198 () 21H (K)
kL4 Bhd —AEY | |#is BRA —AHY | |#Is Ba4 — A%y
EXRS=E EERDE EERRN=E

A AR ER 5o [3 [2wnssy 50| [ [BE%(ER) 60
ll/ KHE BB 6 1 R 60| |3 [HEX(EH) 70
g gk 05 < A XHE FHF
5 O BH B EAEL( X Ton) 15] |+, HE 206 XKpE Rt 7
7 () B8 Hb- BEL (1 X Tom) 10 #+
~  |BAESHE 1|14 [CR)BEsRIZA - 50| |3, |4EL 206
z |R—arvEm 5/ 2L |G BEHRISA f 70
A [EE 15 ft=tail 5| [t ([BRKSIVF 20
Y T2 (1x3x0. 3cm) 8 =] %Q 'tﬁ%_\:'_a_]ﬁ 85
~ [ oEET ke 5 i’ FonY 25 g ET 30
& Y5458 1.5 0) (4)Tayay—(hyb) RE 20| |3, AS 10
5 |BiE 05| |5 [AB e 10

ZL&S 003 |5 (B iR —X - 8l |a  |HhRE 3
v |AL—# 07| |1 (@) FEI—R f 10| | |FLLLEF(RSMR) 1
L [F¥ravvs 04 CET 0.5
g [yze—y—=2 07| |®  [r==rcEm 5| ¥ [IzAd=< 01
; ;1,, (A EVAIFAT ke 18 ; g | 1
] 200 |2 [EE a| |7 [Haz 6.5
z () hThkE Tke 15| |5 |ZiB# 25
n [(LRFEHHE 15[ |7 |®HO=(YRY) 7| |y [E&E 2
Y |g1zr—xemm tem 13| |7 |[AOY 2| |6 [L&SW 2
7 [Fery 30| |V 81y 05| [~ |—mk 0.01
¥ Az 5| |2 [455@ 05| |®  [cass 1
o |[@ocx 12 i () H5R—F 1ke 4 |* [k 20
3 |BEE 3 o |[ExESE 1| |5
4 | HIFH 1o |EBE 04 [| | LEBYDHA 5
v [Ledw 15] [ [EL&D 003| | X |H¥WL 30
Lo |l 05| || |FEravyus 05| [# |z 25
2 [cLe> 002| |7 [a—uyzx o1| v (A 5
A = 120 |F [LeSw 27
ax) KoL RNL GER) B 7 ;R RUBE 0.7
| [BAAYLER 25  [LE# 05
7 |EE 30 1)

A 10 #&  |UE)F—XZILE 35
A Y5 05 -
& @wroz—7 ke 4
2 |&iE 04
E ZL&S 0.03
| L&SK 0.5
~  |[FEraruA 0.5
no 120
th
2 () KESEY— g5 RIMME(E 40
Fa




